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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

) R eye contact with your audience while giving your presentation.
1) Take 2) Insure 3) Direct 4) Make

2-  If e hold true, future global population growth will be heavily concentrated in
Latin America, Africa, and South Asia.
1) projections 2) inclinations 3) interventions 4) realizations

3-  Warning: Anyone caught stealing from these premises will be ---------- .
1) exonerated 2) intensified 3) prosecuted 4) legitimized

4-  The manager’s inflammatory comments are just ---------- an already difficult situation.
He should think before he opens his mouth next time.
1) challenging 2) exacerbating 3) dispelling 4) affirming

5-  The internet seems to have almost ---------- every mode of communication ever invented!
1) captivated 2) superseded 3) allocated 4) commenced

6- The woman is known as an ---------- woman because she gives away millions of dollars
every year to various charities.
1) economical 2) aesthetic 3) unforeseen 4) altruistic

7-  Jen takes medicine at the first sight of a/an ---------- headache; Lin, by contrast, resists
taking medicine even when she’s really sick.
1) incipient 2) skeptical 3) ambiguous 4) credible

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Teachers play various roles in a typical classroom, but surely one of the most
important (8) ---------- classroom manager. Effective teaching and learning cannot take
place in (9) ---------- . If students are disorderly and disrespectful, and no apparent rules
and procedures guide behavior, chaos becomes the norm. In these situations, both
teachers and students (10) ---------- . Teachers struggle to teach, and students most
likely learn much less than they should.

8- 1) being 2) of those are 3) is that of 4) ever to be is
9- 1)a classroom is poorly managed 2) a managed classroom poorly

3) a poorly managed classroom 4) managing poorly a classroom
10- 1) suffer 2) they are suffered

3) to suffer 4) suffering
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Like other Middle Eastern music, the music of Iran is modal in nature. Initially (before
the Qajar Dynasty) each of the major modes had an associated formula for melodic
invention (mayeh). The mayeh included rules for cadences, a hierarchy of tones, and
acceptable melodic patterns. Using the mayeh as a guideline, the musician was
expected to improvise within a single mode for the duration of the performance, much
as is done with Indian raga.

Gradually, this method became cumbersome for the musicians and for the
listeners. As a result, during the Qajar Dynasty, the old modes and mayehs were
restructured and the dastgah system was developed. The modes were replaced by the
twelve dastgahs. Each dastagah has an associated eight note scale, and each tone in
the scale has a special significance, with one note being designated the analogue of the
tonic in Western diatonic music. The dastgah also has its own repertory of melodies,
each of which is called a gusheh. A gusheh is actually a melodic type which usually
spans only four or five tones, and serves as a model for improvisation.

Generally, the gushehs are played in an order which fills the lower, middle, and
upper portions of the dastgah scale. Aside from that, the order and mode of each
gusheh may not have a logical relationship to that of the dastgah itself. The different
gushehs are bound together by melodic fragments known as foruds, which inevitably
resolve to the finalis of the dastgah. Within each dastgah are also encoded the rules for
achieving that resolution. The initial gusheh in a dastgah is called the daramad, and it
lends its name to the dastgah.

11-  Which of the following can be inferred from the passage?
1) Middle Eastern music is modal in nature.
2) The Qajar Dynasty had a deep influence on Indian raga.
3) The dastgah system was widely used before the Qajar Dynasty.
4) Long after the Qajar Dynasty, each of the major modes had an associated formula
for melodic invention.
12- According to the passage, the mayeh included all of the following EXCEPT ---------- .

1) rules for cadences 2) a hierarchy of tones
3) irregular intervals 4) acceptable melodic patterns
13- The word “cumbersome” in paragraph 2 is similar in meaning to ---------- .
1) illegible 2) insecure 3) irresponsible 4) inconvenient

14- Which of the following is a melodic type which usually spans only four or five tones,
and serves as a model for improvisation?
1) The finalis 2) A gusheh 3) A mayeh 4) A forud

15- Where does the following sentence best fit into the passage?
Thus, the dastgah-e-Shur is that dastgah which has the modal melody Shur as its daramad.
1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) Beginning of paragraph 2
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PASSAGE 2:

Music was a bit late to the Romantic Period party. Historians argue over the start and
end dates of the Romantic Period. Some date it as the 19th century, while others place
it in the late 18th century. This is true for Romantic literature. Works like William
Blake’s Songs of Innocence (1789) and Samuel Coleridge’s Kubla Khan (1797) are
considered examples of early Romantic poetry. The Romantic Era hit its stride in the
middle 1800s, encompassing all the arts and popular thought of the time.

The Romantic emphasis on individual self-expression grew out of the political
ideas of individualism born during the Age of Enlightenment. However, the Romantics
rejected that age’s emphasis on logic and rationality. These ideas were as constraining
as the rules regarding Classical music forms. They also rebelled against the hallmarks
of the Industrial Revolution, such as mechanization, mass production, and urbanization,
which were seen as contrary to their vision of an idealized, natural state of being.

Much of Romantic Era art, including music, also reflected the tension and
nationalism of war and revolution that swept across Europe from the French
Revolution (1789) through the mid-century revolutions and on to the national
unifications in the 1870s. Examples of this include the sculpture Departure of the
Volunteers on the fagade of Paris’s Arc de Triomphe, which alludes to soldiers both of
the French Revolution and the Napoleonic Wars; and Spanish painter Francisco
Goya’s paintings depicting Spanish resistance to Napoleon. These events, ideas, and
atmosphere directly contributed to the four primary artistic trends seen in Romantic
compositions.

Which of the following would be the best title for the passage?

1) The Romantic Period in the 18th century

2) Arrival of Music in the Romantic Period

3) The Romantic Period as a 19th Century Phenomenon

4) Origins and Context of the Romantic Period

The passage refers to which of the following as examples of early Romantic poetry?
1) Songs of Innocence and Frost at Midnight

2) Songs of Innocence and Kubla Khan

3) Frost at Midnight and Ode to Autumn

4) Kubla Khan and Ode to Autumn

The word “constraining” in paragraph 2 is similar in meaning to ---------- .

1) restricting 2) resolving 3) restoring 4) reinforcing
The passage refers to all of the following as hallmarks of the Industrial Revolution
which the Romantics rebelled against EXCEPT ---------- .

1) mass production 2) mechanization

3) urbanization 4) child labor

The paragraph following the passage will most probably discuss ----------

1) the sculpture Departure of the Volunteers on the fagade of Paris’s Arc de Triomphe
2) Francisco Goya’s paintings depicting Spanish resistance to Napoleon

3) the four primary artistic trends seen in Romantic compositions

4) the French Revolution and the Napoleonic Wars
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PASSAGE 3:

Austrian composer Joseph Haydn was one of the most important figures in the development
of the Classical style in music during the 18th century. He helped establish the forms and
styles for the string quartet and the symphony.

Haydn’s father was a wheelwright, his mother, before her marriage, a cook for the lords
of the village. Haydn early revealed unusual musical gifts, and a cousin who was a school
principal and a choirmaster in the nearby city of Hainburg offered to take him into his home
and train him. Haydn, not yet six years old, left home, never to return to the parental cottage
except for rare, brief visits.

The young Haydn sang in the church choir, learned to play various instruments, and
obtained a good basic knowledge of music. His life changed decisively when he was eight
years old, when the musical director of St. Stephen’s Cathedral in Vienna invited him to
serve as chorister at the Austrian capital’s most important church. Thus, in 1740 Haydn
moved to Vienna. He stayed at the choir school for nine years, acquiring an enormous
practical knowledge of music by constant performances but receiving little instruction in
music theory. When his voice changed, he was expelled from both the cathedral choir and
the choir school.

With no money and few possessions, Haydn at 17 was left to his own devices. He
eventually was introduced to the music-loving Austrian nobleman Karl Joseph von
Furnberg, in whose home he played chamber music and for whose instrumentalists he wrote
his first string quartets. Through the recommendation of Furnberg, Haydn was engaged in
1758 as musical director and chamber composer for the Bohemian count Ferdinand
Maximilian von Morzin and was put in charge of an orchestra of about 16 musicians.

Which of the following statements is true about Haydn?

1) He was brought up in a rich family.

2) He showed unusual musical gifts at a young age.

3) He did not have a good relationship with his family.

4) His life changed decisively when he was only six years old.

The underlined “him” in paragraph 2 refers to ---------- .

1) Haydn 2) Haydn’s cousin

3) a choirmaster 4) a school principal

All of the following are true about Haydn’s stay at the choir school EXCEPT that he

1) acquired an enormous practical knowledge

2) received little instruction in music theory

3) remained there for 9 years

4) arrived there when he was 17

The passage provides sufficient information to answer which of the following questions?
I. Why was Haydn expelled from both the cathedral choir and the choir school?

I1. When did Haydn move to Vienna?

I11. How was Haydn introduced to Karl Joseph von Furnberg?

1) I and III 2) I and II

3) 1l and 111 4) Only 11



25- Where does the following sentence best fit into the passage?
For this ensemble he wrote his first symphony as well as numerous divertimenti for

wind
band or for wind instruments and strings.
1) End of paragraph 1 2) End of paragraph 2
3) End of paragraph 3 4) End of paragraph 4
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